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W wtf@ = (5) —12(3) +40 (B -De%rs. Ssrs-1ors = (1)

DL > BRI % KD ¥ Tho. £, f(@) DRMEM EZTDEED 2 OfiE KD &
(m, x) = Th3.

(2)0<0<2r 4%, Jifikcos20 +3cosh —1 = 0 &< &£ 0 = Tho. 2, HER
logs(V/3tan 6 + 1) + logz(cos ) = % RfE L 0= Thd.

(3) 22° —ax® — 2x + a BREHHT B & THd. &7z, P(x) =22% —ax* —2r +a, Qx) =
— 22+ Qa—1Dzr+2aBLEE, TRTOED 2 IZOWT P(x) —Q(x) > 00 iddL5%ad
HOHPH % KD D & THhd.

(4) gz ABCD 24 OFIZNEEL, AB=4, BC=4J3, CD=V3DA X 33%. Znt X, ACOE
XaRidBE AC = THY, DADEI %K% & DA = Th%.




